QUICK
INSTALLATION
GUIDE

.
HYXiPOWER
~——

STACKABLE
ALL-IN-ONE ESS

HYX-H5.7K-HSPA. HYX-H7.6K-HSPA.

HYX-H11.5K-HSPA

peom® @ |

ya)

\
\

|

www.hyxipower.com

n Packing list

Etﬂ
Inverter DCS (Essential) Meter (Optional purchase:only PV MC4 metal pin
module & Base x1 for partial home backup installation) male x4 / female x4
x1
(== LM A
M6*15 bracket x1 PV MC4 insulated terminal

METER 4pin

RS485 connector x2
(Only for partial home
backup installation)

OT terminal x7

Mé6*50 expansion screws x2
M4*10 grounding screw x1
M6*14 L/N screw x6

male x4 / female x4

Backplane bracket
x1

Inverter Module and Base in the same package

=

B Installation Preparation

Installation Environment Requirements

k‘ﬁ

P67

@
A
,
,
,
,
,
,
,
/
BEeCIOI0k

1"'\‘ <50°C

=-20°C

é

® 0~100%RH

B ALL-IN-ONE Installation

Backplane bracket installation

« Step 1: Insert the backplane bracket into the corresponding slot on the inverter module.
* Step 2: Secure the backplane bracket to the inverter module with Mé screws.

A

799.00

3.1 Please select one of the “hard-floor mounted” or “soft-floor mounted”
Hard-floor mounted Installation Steps

» Step 1: Stacking the pack on the base.

« Step 2: Stacking the inverter module on the pack.

+ Step 3: Mark the inverter bracket's two expansion screw holes on the wall, remove the inverter module
to drive expansion screws into the wall.

*+ Step 4: Move back the inverter module, bolting the inverter to the wall with “Mé bracket expansion
screws”. (No need to fix inverter module on structural beam.The backplane bracket is only to prevent
tipping, it is not a stress point.)

e : ™

ﬁi mp i :
)
——
d
N J

Soft-floor mounted Installation Steps
(Requires purchase of additional soft-floor mounted base)

Soft-floor mounted installation for soft ground, please make sure that the soft-floor mounted base is
attached to the ground and supported by the floor, the soft-floor mounted base is only intended for soft
surfaces such as grass or mud, but still needs to be supported by the floor.

» Step 1: Secure the soft-floor mounted base with “M12*70 expansion screws”. Please make sure that
the expansion screws are driven into the load-bearing studs of the wall. Then place the base that comes
standard in the all-in-one package on the soft-floor mounted base.

» Step 2: Stacking the pack on the base. Then stacking the inverter module on the pack.

» Step 3: Mark the inverter bracket's two expansion screw holes on the wall, remove the inverter module
to drive expansion screws into the wall. Move back the inverter module, bolting the inverter to the wall
with “M6 bracket expansion screws”.(No need to fix inverter module on structural beam.The backplane
bracket is only to prevent tipping, it is not a stress point.)

- OTES

The battery base (in inverter package) must be installed, otherwise the battery cannot form a circuit.

D Electrical Connection

4.1 Electrical Connection Preparation

* Step 1: Remove the M3*8 screws from the top of the inverter module.
» Step 2: Lift the inverter module cover from the upper end.

» Step 3: Remove the 4xMéb screws from the wiring compartment cover.
» Step 4: Unscrew the top three protective casing except the COM port.

%

4.2 Grounding Procedure

The cross-sectional area of the secondary grounding cable must be the same as the cross-sectional area
of the PE core in the AC cable.

The secondary grounding cable and terminal block are to be prepared by the customer.

e Step 1: Make the cable and crimp the terminal block.

* Step 2: Remove the screws from the grounding terminal and use a screwdriver to secure the cable.
» Step 3: Apply silicone or paint to the grounding terminal to improve its corrosion resistance.

* Step 4: Secure the grounding cable to the corresponding terminals with “M4*10 grounding screw”.
» Step 5: Thread the grounding cable through the corresponding position.

e N/
<= -al—) ©
L=E+[2~3)mm - -
T i Hot-melt  Wiring - = '
sleeves  Terminals ;P E
SR
%E
\ VAN ,
e N/,
(4]
—) ©
i ......
=) o |
L
. N\

4.2 PV Side Connection

» Step 1: Strip off the insulation layer of all DC cables by about 7mm.

* Step 2: Use crimping pliers to bundle the cable ends at the wiring terminals.

* Step 3: Pass the cable through the cable gland, insert the insulating sleeve and fasten it. Gently pull
the cable to ensure that it is connected and fastened. Use a force of 2.5~3N-m to tighten the gland and
insulating sleeve.

* Step 4: Use a multi-meter to check and confirm that the polarity of the photovoltaic string connecting
cable is correct.

» Step 5: Connect the PV connectors to the corresponding terminals until a click is heard.

¢ N/ N
P Positive cold crimp terminal 25 3Nm
/ / » N,
_ | @ | o
/ [ 4
o %
¢
® .=
/ O =
D7
N\

PV2 and PV3 share one MPPT



4.3 Please select one of the following “4.3.1 Whole Home Backup” or “4.3.2

Partial Home Backup” .

I

e

Terminal Layout

Upper limit of current per phase: 200A
4.3.1 Whole Home Backup

(i )

e

[ GRID-N

PV

Grid
Backup
CoM

PV Module
Old Circuit

(T} |

‘

4 ]

Distribution Box :

|

|

|

Home Load !

|

|

|

|

|

|

Hﬁ

g

Utility Meter

Grid

 Step 1: After disconnecting the power supply, take the GRID cable from GRID service entrance(AFTER
utility meter), through the conduit entry hole of GRID.
* Step 2: Make the AC cable with the OT terminal. Secure the GRID cable to the corresponding

terminals with “M6*15 L/N screw”.

« Step 3: Make the BACKUP cable with the OT terminal. Secure the BACKUP cable to the corresponding

terminals with “M6*15 L/N screw’.

e Step 4: Take the BACKUP cable through the conduit entry hole of BACKUP. Connect the BACKUP

cable to the main distribution box.

4.3.2 Partial Home Backup

(it

rRower

o
=
PV Module =J %
— Distribution Box Inverter Meter Utility Meter Grid
Locket
. . e Bod
Off-Grid Load On-Grid Load @% = Body sy
Tighten Nt

[_]

= =

* Step 1: After disconnecting the power supply, take the GRID cable from main distribution box, through
the conduit entry hole of GRID.

» Step 2: Make the AC cable with the OT terminal. Secure the GRID cable to the corresponding
terminals with “M6*15 L/N screw”.

3
Inverter METER port (Reserved dry contact)

Smart Meter Side 485A | 485B /

(Reserved dry contact)

* Step 3: Make the BACKUP cable with the OT terminal. Secure the BACKUP cable to the corresponding

terminals with “M6*15 L/N screw’.

* Step 4: Take the BACKUP cable through the conduit entry hole of BACKUP. Connect the BACKUP .
cable to the sub distribution box of off-grid load.

The official version does not require the customer to operate dotted steps.

[ = & e

INV-meter connection meter side, INV and meter connected by RS485 2pin cable.
For more details please refer to the manual in the meter package.

Partial Home Backup Installation require meter connection

HEBLNEDGHER

77777777777777777777777777777777777777777777777777777777777777777777777777 . ] [ E]
/ N ON©;
* Step 1: Wire striping | .
» Step 2: Unscrew the COM port protective casing and pass meter cable through the COM port. .. é A .
» Step 3: Put red seal ring into the bottle of body inside. £ G P il
» Step 4: Place black seal ring on the green Locker. gE N O
* Step 5: Pass all parts through the wire in the following order.Crimp the 4pin copper core on the green 1 Type of wiring 3P4W

locker and tighten it.
* Step 6: Screw all parts together and connect the water-proof 4pin connector to inverter module meter
port.

ok

M e [ NOTES ]
ON®,

o CT direction pointing to GRID.

A B
RS485

Meter 485A/485B must be connected to the correct pin port of inverter side.

B Communication Connection

Please select one of the following “WIFI module” or “4G module”.
WIFI module

e Step 1: Insert DCS into the DONGLE terminal and tighten it to ensure it is secure.
* Step 2: Connecting the tail end of the DCS to the head of the antenna.

4G module

* Step 1: Remove the protective cover of DCS and insert the SIM card.

e Step 2: Install the waterproof cover of DCS.

* Step 3: Insert DCS into the DONGLE terminal and tighten it to ensure it is secure.
* Step 4: Connecting the tail end of the DCS to the head of the antenna.

* Step 3 and step 4 are the same as the DCS wifi module

B Wiring completion and syste

After completing all wiring connection, turn the battery switch and PV switch on. Cover all covers. Long
press the power button more than 3s until hear "click". System startup.

LED Indicator

:

B System Commissioning

8.1 Installing the App

Method 1 Method 2
Download the "HYXiPOWER APP"
from the app store:

* App Store (I0S)
* Google Play

download the APP:

8.2 App Quick Guide

For more information on using the HYXiPOWER APP,
please scan the QR code.

support@hyxipower.com

Product information is subject to change without notice.
© 2024 Zhejiang Hyxi Technology Co., Ltd. All rights reserved.

Scan the QR code and

H = - — PV switch
P [
p
——Power button
Battery switch
No. Name NERH Indicator
1 SOC Green [Capacity e
ON-GRID ON
OFF-GRID | On 0.5s, off 0.5s
2 WORK Green
— Standby | On 0.5s, off 1.5s
Shutdown OFF
ON-GRID ON
OFF-GRID | On 0.5s, off 0.5s
3 ALARM Red
Standby On 0.5s, off 1.5s
Shutdown OFF
App Quick Guide
6.2.5118.00100

QI_HYX-H11.5K-HSPA_V1.4-202501_US



	页 1
	页 2

